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Instruction:- Question No. 1 is an objective type question It has part (A) and part (B). Part (A)

carries 5 Questions and Part (B) carries 5 question mark in allotted to each question.
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Question No. 2 to 6 are very short answer type question carries 2 marks. Maximum

limit of answer is 30 words.
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Question No. 7 to 11 are very short answer type question carries 3 marks. Maximum

limit of answer is 50 words.
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Question No. 12 to 18 are short answer type question. Each question has on internal

choice. Fach question carries 4 marks. Maximum limit of answer is 100 words.
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Question No. 19 to 23 are Long answer type question. Each question has on internal

choice. Fach question carries 5 marks. Maximum limit of answer is 150 words.
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Question No. 18 to 23 are Long answer type question. Each question has on internal

choice. Fach question carries 6 marks. Maximum limit of answer is 200 words.
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(Part —A) write correct Answer from the option.
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(i) Oral communication is -
(a) Radio (b) Telephone
(c) Face to face (d) All of the above
(i) TR BT AEY § —
(@) geie @) el
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(ii) Medium of communication is -
(a) Intenet (b) Telephone
(c)aand b (d) None
(i) T @ Rgta g —
(a1) T (@ IR
(@) = () @
(iii) Principle of posing is -
(a) One (b) Four
() Two (d) Three
(v) TR 3R T g e § —
(31) Run Cycle (@) Walk cycle
(%) Tt () @I &
(iv) Squash and stretch apply to -
(a) Run Cycle (b) Walk cycle
(c) Posing (d) None
(v) TR # wnfae € -
(@) TaE (@) Raae=
(@) aand b () @I &
(v) Anticipation includes in -
(a) Action (b) Reaction
(c)aand b (d) None
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(Part —B) Fill in the Blanks -
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(1) It is always easier to start a walk cycle with a position.



(11) In walk cycle having ............. poscs
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() ............ and .......... are vital in communication.
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(1v) Happiness inpartof ................ Animation.
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(i) Thereare ...................... steps of posing.
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Very short Answer Question (Word limit — 30 word)
ged HHIE 2 — foIRad AR @1 87
What is written communication?
TS HHIG 3 — TN D UG b Tl I&ev faRen?
Write the two examples of facial expression?
U HHID 4 — AT AT 87
What is planning?
U HHIF 5 — did Fehid ded A fhad BA 8 87

How many frames in walk footfall Patter.
Ued HHIG 6 — SUYC [HH Had 87
What is dopesheet?
AYITI Y1 (I3 T — 50 IMe3)
Short Answer Question (Word limit — 30 word)
U HAIG 7 — A A% T 87
What is walk cyele?
ged wHI% 8 — Uial feugiT o1 27
What is pose designing?
U3 HHIB 9 — ob RfST fHd Had? Fusmgy |

What is track Reuding? Explain it.
U3 PHHIB 10 — AT AT BT HET?
Explain the overlapping?
U HHIE 11— WA T @ 87

What is frame padding?
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Short Answer Question (Word limit — 80 word)
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Explam the contact pose and Recall pose?

arerdn
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Explam the contact pose and Recall pose?
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Calhat is communication and composed communication explain it?
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Ifgw i aMiRas ToR & A9sI8e?

Explam verbal and non- verbal communication?
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Explam the Body mechanics.
4T
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Explam the transfer of weight?
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Write the steps to animate the blend value?
4T

et Bierais Iy W B & =Rl ol ferfeg?

Write the steps to set the blend falloff value?

— IrefHT 91er ° Y arsw 9ol |ft T 27

What is frame wise ball shaping in Bouncing Ball?

1T
IR a7 § g & ey w9 far Sirer 27

How to flip the Drawing in bouncing Ball?

— TATAT BT Ul Bl FHSITSU?

Explain the planning key pose?
HIdT
OISl T Uiel TAHEH &I FHRIgy?

Explain the pose to pose animation?
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What makes a characters face alive? Explain it?

arerdn
IS Ud o373 Bl THISE?

Explain the planning and layout?
i ge (3 A — 130 9Is])
Long Answer Question (Word limit — 130 word)
— Wied® FT 57 [T IF USRI BT guiF HIAg?
What is the feedback? Explain three type of feedback?
4T
yeeie 91 87 7 e P diF faeiwdnd faReg?

What is presentation? Write three features of a Good presentation?

¢
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Explain the walk cycle of horse?
4T

HICUS didh ATddhe BT THSZU?
Explain the walk cycle of Quatruped?

— R ) AR B e R 5
What is the different categories of communication?
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SR e B i B
Classify the communication channel?
— gAHEE ufhar § 9T arer fmior Y Iy faReg? s
Write the process of creating bouncing ball in Animation process?

HIdT
diel Bl TMe &Y fhar S 8?
How to animate the ball?
— Tea UfeeT uee & Rygial o ferfae? 5
Write the principles of advance acting process?

3reran
Tsaie faeT wew & fagiar @ fafeg?

Write the principles of advance acting process?
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Long Answer Question (Word limit — 180 word)
U BHID 24 — did AFDA BT U ferReg?
Write the procedure of walk cycle?
3T

XA AGdH BT YR feReg?
Write the procedure of walk cycle?
U3 HHIG 25 — AT Y 9feT &1 o ¥ wysge?
Explain briefly Animation Render setting?
4T
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Explain briefly custom naming string?
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